EARAROBEEIERT — 2 N— IBISH —F

20165F2H23H (X) 20m55#2H

Il >585% B5 ¥5%—#

(xwlw | lmEmml - |5 5) wom 8

[A&E£] 1% :170,000 @ ~ 23%&:34,000 W  3#&:17,000M  4%:0H / 5%&:0M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N KR : 00— - RiEE— (1)
gl 7 = s 1 2 it 4 54?0 1.(2_8).5 2-2-2-2 | 38.3 5 (4:121) T 2
RiFATATv— B/ —FT17— ZINET7— L
5 s 4 6 | EEERR 1:28.8 1-1-1-1 | 38.7| — 1 544 | HEEFEE] (S542)
l > RABE N 56.0 (11/2) ) | EERE
g AFT 0 ML BYI—HT— AR
= s HHENT : —-7-7- - hnEE={R (S54R)
3l 6 ALY T Ho4 gé_o B 1'(219)'0 [ N 2 f:) AHEE :
L:Urh—r BHvELTIUVa #iE  JEAA
— . EFHERE : -3-3- — L= (1)
4l5l5|¥v=E LY 4 9 B 1.72%_1 3-3-3-3 |38.5 4 ?_75 I#aﬂfk A
L:8=/FLLy b BT XNT1 SRS
N # g | RINARI 1:29.1 4-5-4-4 |38.2| — 3 488 | REERSET (S24R)
5N 4| KT 56.0 (NF) (-3 |BERY }
L:ZTemavs 44— BACNFILTY FR Ak
: = 4 5 | BEREE 1:29.7 6-6-5-5 |38.6| — 6 460 | REEEZ (5H)
6N 3| *FIRZTY 54.0 @ (1) | W
LFFARFFLT BEXLIXTY N2 H LS
S5 4 5 | KEER 1:30.2 9-9-8-8 |37.9| — 8 426 | ETEFREE (S542)
718lg| N7/ HAN 54.0 2 1/2) ) | (@ 3 P NHH
R:T7+—T4F4F+—-XY%> B:O0-7O0-+F INTF—L
s = — B 6 | Az 1:30.7 8-8-9-9 [38.4| — 7 451 | BRBX (BHE)
glglg|THATIAZIT £52.0 (2 1/2) (-7) | Bl
R:ZAN—3I2FK—L B:A>T-KREETY =iE B
. . 4 5 | BRR— 1:30.7 5-4-6-7 | 40.0 | — 9 4068 | REBCS (BEHE)
9[1[1|Y>FFr> 54.0 (7€) 3 | B) £=257
L:Tv AT Ly h— BEFZFIEILL [ Ese]
® I—F—@EBIERL
13—7F— 2,7,5,4,1,3,6,9,8
Ao=5"= 2,7,5,1,4,3,6,9,8
3T—7— 2,7,5,4,3,1,6,8,9
41—F— 2,7,5,4,3,6,1,8,9
[ RN
B 7 620M 794K 2-7 290M & 2-7 500 &R 2-6-7 480
# B 7 1004 6-7 290M B E 2-7 480 EE 7-2-6 5,640/
2 1004 2-6 130H B H 7-2 2,190M
6 1209

ABICOVWTRDTEEERROODE. TR LIV,




